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Square root - without initial approximation - Topler's method 1

In the arithmetic series of odd numbers 1 + 3 +5+7 +9 + 11....,

the n' term is always 2n — 1 and the sum of the first nterms is n2, e.g. 1 + 3 + 5 + 7= 16 = 42

In the example below (v 1369 = x|, the root will have 2 digits 'a' is the tens digit and 'b' the units digit:
V1369 = 10a + b,

V1369 = V(10a + b)2 = V[100a2 + 20ab + b?)

Following this we develop the radicand in PR.

\/ 10a+b=2 Clear Clear Clear
a is to be found in the tens column (=10a). For that, develop the square 1 + 1 100
of 10a (100a) with addition of the odd numbers g g ; 8 g
Watch PR as close as possible to 1369 7 4 1600
1 . . .
Overflow occurs with the addition of '7': negative turn. 7 — 3 9200
Decrease the last figure by 1 6 olsl4l312]4
The missing value between 900 and 1369 corresponds to 20ab + b2 ., . | N N 1109 8 76 5 43 A
Now calculate b. The value of b2 is found by building up the series from setting slot 1 until the expression 20ab + b2
becomes equal to the value needed to complete 900 to 1369
For that, 20a must also be set. This is obtained by increasing the last figure set by 1. (The nt term was 2n-1)
Each turn of handle will fransfer not only b2 but also 20ab
thus adding the required value of 20ab + b2 which is lacking in the PR
61 + 31 961
Carriage 1, positive turns, adding the next serie in slot 1 .3 2 1002 4
Toadd 11, set 1 in slot 1 and increase the '6" in the slot 2 by 1 -5 3 1089
For 13, it is only necessary to set 3 in slot 1 -7 4 11sé
2 ' v Y 69 -5 1225
With '13', the desired value is reached. (1369 in PR) 71 ) P 12096
73 6543 2|1 + 37 1369
Result: 375 s s 4o o A A 11098 7 6543 2A

Source: " Instructions for use of the Curta ",

Contina / Bernard Stabile - 2023
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2b Square root - without initial approximation - Tépler's method 2 - Type |l
With a type |, begin with Carriage and slot 5 and develop the radicand N in PR.

VN =2 Clear 1 Clear Clear
Develop the first serie of odd numbers 1 + 1 1
in slot 8/Carriage 8 ; ] ]
1 with an additive turn affer each one B
L e ) 2 87654321
Overflow occurs with '3'. Negative turn
Decrease the last number by 1~ 11109 8 7 6 5 43 21 A A 1514131211109 A 7 6 5 4 3 2 1
21 + 11 121
Develop the next serie of odd numbers -3 2 - 44
. . -5 -3 169
in slot 7/Carriage 7
2 . . -5 - 12 144
Overflow occurs with '5'. Negative turn
24 876|543 21
Decrease the last number by 1
110987654321 A A 1514131211109 8 A 6 5 4 3 2 1
241 + 121 14641
Develop the next serie of odd numbers -3 2 - 884
in slot 6/Carriage 6 |13 3 1151112\9
3 rag --5 - 122 14884
Overflow occurs with '5'. Negative turn
244 8 716543 2|1
Decrease the last number by 1
110987654321 A A 1514131211109 8 7 A 5 4 3 2 1
. 2441 + 1221 1490841
Develop the next serie of odd numbers -3 .2 3284
in slot 5/Carriage 5 g j g 7 § Z
P Overflow occurs with '9'. Negative turn 9 .. 5 15006 25
Decrease the last number by 1 IR — 1224 1498176
At each time, the number in SR 2448 sl716!5l4l3lol
will be twice the digitin CR 07 5 o 5, 5 5 A A 1514131211109 8 7 6 A 4 3 2 1



24481 + 12241 149842081
3 ---12 -6 6564
. 5 -3 - 910409
After 9, increase the figure in slot 5 by 1 -7 - 4 915536
. . 11 - - -89 -5 40025
on.d.set] in slot 6. We thus obtolho 11 “lol7 s 6lals57le
5 For 13, 15, it is only necessary to set 3, 5, in slot 4 .3 .7 .. 890009
Overflow occurs with '15'. Negative turn -l-1-]-15 - - - -8 1150013504
Decrease the last number by 1 ----95 - 12247 149989009
24494 87654321
1110987 654321 A A 1514131211109 8 7 6 5 A 3 2 1
244941 + 122471 14999145841
----- 3 --]-]-12 - - - --3907 84
Develop the next serie of odd numbers - - - - - 5 S R R R SRR 635729
. |f3/C . 3 L 7 R N e 4\ | | |- -] 880676
6 In sio armage s L 9 -] 5 15000125625
with an additive turn aofter eachone 9 _ 122474 14999880676
Lo .
Overflow occurs with '9'. Negative turn 244948 slrlelslalalal
117109 8 76 5 43 21 A A 1514131211109 8 7 6 5 4 A 2 1
2449481 + 1224741 1499990517081
...... 3 2 f ... .2966564
------ 5 N I e ... .54160409
Semewav... || 4 A O 0 O O O 8 /7 N P I I O O 7865536
: ame way... 0 ] 5 1500000315025
Check that the number in SR is twice the numberinCR 9 _ 1224744 1499997865536
2449488 8706 504321
117109 8 765 43 21 A A 1514131211109 8 7 6 5 4 3 A 1
24494881 + 12247441 14999981 1048481
------- 3 . A-l-lal-]- -2 s ... . .35543364
------- 5 I O O O D D S ... ..600382409
------- 7 . B O I O O D O S ... .. .84533136
------ 89 . el -1- 15 ... ..909028025
------ 91 - 1 O O A ' S ... ..33522916
8 Result: 12.247448 7 F L4 I T O o M A e ol 3135121231118
------- 5 . R R U I T ... ..82512704
------- 7 - I O O O O 150000007007601
24494897 87065 4321 - 12247448 149999982512704
117109 87 6543 21 A A 1514131211109 8 7 6 5 4 3 2 A

Source: " Instructions for use of the Curta ", Contina / Bernard Stabile - 2023 2b



2c Square root - without initial approximation - Topler's method 3
Here is another way to exiract a square root according to Tépler. It will not be necessary to control the radicand N.
The appearance of the '9' will be the signal. The number is to be split up into groups of two digits.
| 22 1 37 |. Each pair correspond to one digit of the root.

\/N =2 Clear Clear Clear
1 Set the radicand 2237 6543 21 + 1 2237
Bring it in PR 8 7654321 A A 11109 8 7 6 A 43 21
2 3 Clear
2237
Reduce PR as close as possible to O I _ | 2137
The first slice of the radicant (22) has two digits. 3 2 1837
We must place the units under the unit of this slice 5 3 1337
3 Place the first odd numbers each followed by a negative turn Z g 9lo ? "35 ;
Underflow occurs with 9 9 + 4 637
Positive turn 8 5
Decrease the last figure by 1 e
87654321 A 1109 8 7 6 A5 321
6 37
T
Develop the next serie of odd numbers 81 - 41 556
in slot 4/Carriage 4 -3 "2 41713
-5 - 3 3838
After 9, increase the figure in the slot 5 by 1 and set a 1 in slot 4 7 .4 301
We thus obtaina '11" 89 -5 212
4 For 13, 15, it is only necessary to set 3, 5, in slot 4 9 ; : ; ! g ;
Overflow occurs with 15 5 s 99933
Positive turn .5 + 47 28
Decrease the last number by 1 94 6 543 91

8 7 6 5 43 21 A A 1M109 8 7 6 5 A3 21



2800
R
Continue in the same way... 41 - 471 18159
Underfl ith 5 |3 - 2 916
5 nderflow occurs wit .5 .3 9999971
Positive turn .5 + 472 916
Decrease the last figure by 1 944 6 5 430
87654321 A A M109 8 7 65 4 A2 1
9160
T
9441 - 4721 82159
-3 -2 72716
-5 -3 63271
-7 -4 53824
. -4 9 -5 44375
Underflow occurs with 19 sl e 34924
6 Positive turn 3 7 25471
Decrease the last figure by 1 -5 8 16016
-7 - - 9 65579
-9 - -30 999997100
---9 + 4729 6559
9458 654321
87654321 A A 1109 8 7 6543 Al
655900
T
94581 - 47291 5613129
. -3 -2 466736
Underflow occurs with 13 5 .3 3792151
; Positive turn -7 - 4 277564
-89 -5 182975
- 91 -6 88384
Result: 47.296 RN ) 7 0990000037097
94593 6543 2|1 + 47296 0088384
87654321 A A 11109 8 7 65432 A

Source: " Instructions for use of the Curta ", Contina / Bernard Stabile - 2023



Square root - without initial approximation - Friden style 1

A transposition to the Curta of the algorithm from the Friden machine

This method uses the odd integer series in which the square of a number n can be computed
by the sum of the odd integers from 1 to (2n - 1), i.e.:

12=1,
22=1+3,
32=1+3+5..,

n2=1+3+ ..+ (2n-1)

This recalls the Tépler method. Here we use the same series multiplied by 5:
5x12=5x(1)=5

5x22=5x%x(1+3)=5+15

5x32=5x(1+3+5)=5+15+25
5xn2=5x(1+3+..+(2n=-1))=5+15+ ...+ (10n-5)

We have to subtract

until the result becomes negative. Carriage after carriage, the square root is built in SR

VN =2 Clear Clear Clear
191844 5 5922
1 Set the radicand and multiplication by 5 ? Ols]4]s 2] 5 4+ 959
87654321 A A 1109 8 7 A5 4321
95922
If the square x 5 (now in PR) has an even number of digits to the left 0 ; _ 4 ololol2l2
of the decimal point, set 5 in front of the 2nd most significant digit of PR 10- - 3 75 . .
Negative turn (subtract 50,000). If no negative result, set 1 in SR slot 2 - 2 50
2 to the left of the '5', and subtract once more (150,000) i 5 (1) ; (5) AN
Continue incrementing in previous digit until underflow occurs N + 1 159292
(with 450,000) 45 )
Positive turn. Retain the leffmost SR digit
87654321 A 11109 8 7 A5 4321



405 - 09 11872
. o - 8 772 -
Clear the '5'. Set 5 on the next SR digit to its right _lol. 7 347 .
s Increment in previous digit until underflow occurs - 35 . 6 99 1|2 -
(with 35,000) -|-- . 07 347 -
Positive turn. Retain the lefrmost SR digit 430 654321
87654321 A A 11109 87 6 44321
4305 - 6 9 30415
R - 8 2610
-2 - -7 21775
-3 - -6 17 44
Clear the '5' 4. 5 130095
Set 5 on the next SR digit to its right - 5. - 4 874
4 Increment in previous digit until underflow occurs -6 - -3 4375
(with 8,500) |7; |2 000
! -85 -1 9195615
Retain the leftmost SR digit ol + 62 000000
4385 654321
87654321 A A 1110987 654321
5 Clear the last '5' in SR, and read result in SR: 438 438 4 6 2
87654321 A

Source: " Calculating square roots on a Curta Calculator ", Daniel F F Ford - vcalc.net / Bernard Stabile - 2023




Square root - without initial approximation - Friden style 2 - Type |l
VN =2 Clear 1 Clear Clear
150 5 750
1 Set the radicand and multiplication by 5 8l7]6|s]4]3|2]! 5+ Ml
110987654321 A A 1514131211109 A 7 6 5 4 3 2 1
750
The square x 5 has and odd number of digits: set 5 T P ols
. .o .. 05 -
t
in front of the 1+t most significant digit of PR 115 ) 3 7ls
2 Negative turn. Then set 1 in the left of 5, negative turn 2. + 4 25
Underflow occurs (PR increases despite subtraction) 15 8
Positive turn
1110987654321 A 1514131211109 A 7 6 5 4 3 2 1
105 - 39 145
Clear the '5' : ; s : g o g 5
s Set 5 on the next SR digit to its right ’ . 38 3
Increment in previous digit until underflow occurs
o 125 876543 21
Positive turn
11109 87654321 A A 1514131211109 8 A 6 5 4 3 2 1
1205 - 379 1795
Clear the '5' - ; ; g . g g sls
Set 5 on the next SR digit to its right ’ o2
4 . . C -l--- + 378 58
Increment in previous digit until underflow occurs
. 1235 87654321
Positive turn
1110987654321 A A 1514131211109 8 7 A 5 4 3 2 1
12205 - 3779 45795
- - -1 - - 8 3358
Clear the '5' -2 -7 21355
.. N - - -3 - -6 912
5 Set 5 on the next SR digit to its right 45 5 9006885
Increment in previous digit until underflow occurs . . + 3776 912
Positive turn 12245 sl716!514l3l2]1
110987654321 A A 1514131211109 8 7 6 A 4 3 2 1



Setting Carriage/Inverter Turns Counter Product

122405 - 37759 789595
1 - - 8 66718
) L7 544755
3 -6 42232
Clear the '5' el -4 -5 299875
Set 5 on the next SR digit to its right Ak - |4 11717142
6 | ti . diait until underfl - - - -6 - -3 54955
nerement in previous digit until underflow oceurs .75 ) RS 99003248
Positive turn + 37753 54955
122475 87654321
1110987654321 A A 1514131211109 8 7 6 5 A 3 2 1
1224705 - 377529 4270795
R | - 8 304608
. 2 -7 1821355
'(?lear.the'5 L sl Iy 59662
. Set 5 on the next SR digit to its right 45 I Y 99999371875
Increment in previous digit until underflow occurs . . o . _ . + 377526 59662
Positive turn 1224740 87654321
11109 8 7 654321 A A 1514131211109 8 7 6 5 4 A 2 1
12247405 - 3775259 47414595
1 8 3516718
. el 2] - -7 22919755
.(?Ieor.the'S sl .6 1067232
. Set 5 on the next SR digit to its right 45 i Al -5 9999998424875
Increment in previous digit until underflow occurs = . o o o L _ + 3775256 1067232
Positive turn 12247445 sl716!51413/204
1110987654321 A A 1514131211109 8 7 6 5 4 3 A 1
122474405 - 37752559 944757595
el -] - Sl l---]1-18 82228318
2 -7 699808755
g
Clear the '5 o sl .6 57733432
Set 5 on the next SR digit to its right R I -5 454859875
Increment in previous digit until underflow occurs 5 -4 33238542
9 Positive turn 6 -3 209910955
o 7 - -2 8743648
Clear the '5 .. ... .85 . S [ I 9199999964961 9095
--------- + 37752552 0000008743648
Result in SR: 12.247448 122474480 87165 4321
1110987654321 A A 1514131211109 8 7 6 5 4 3 2 A

Source: " Calculating square roots on a Curta Calculator ", Daniel F F Ford - vcalc.net / Bernard Stabile - 2023
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21( Square root - Hermann's method
It is supposed that an approximate square root has been found and we wish obtain a better approximation. (i.e. in the previous example)
Let A be the approximate value of R, the square root of N, and denote the error in the approximation by E, so thatR = A + E.
The method proceed by sefting A in SR multiplying by A to procude A2 in PR.
Since N = A2 + 2 AE + E2, E is added to CR. Since it already contains A, it now read A + E , the new approximation.

VN=R=2 Clear 1 Clear Clear
1 2.2 6 5041321 1 1 2.2
+
Set the initial approximation A: 12.2 ¢ 7 ¢ 2 4 2 21 4 4 s s A s a3 2]
1
Bring it in PR 122 5 2 + 12 1464
Calculate A2
Develop 12.2 in CR 11209 olsldlslal L. 122 14884
A A 1109 8 7 65 A3 21
244 65 4321 1224 149816
Set 2A, twice the approximation 4
87654321 A 11109 8 7 65 4 A2 1
Calculate (N — A2) = 2A with division by additive method. (See 1Ca) .
Develop PR as close as possible to N: 150 2144 2 7 11212417 11419|9/8)6/8
Result: R = 12.2475 2 4.4 615141321 5+ 1 2.2 4 75 1 4 9.9 9 9
A A 11109 8 765432 A

Source: " Computing examples for the Curta ", Contina / Bernard Stabile - 2023
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29 Square root - Hermann's reverse method
Useful when a square or result is already in PR

It is supposed that an approximate square root N has been found and we wish obtain a better approximation R.

R=A+(N— A2 = 2A).

Setting Carriage/Inverter Counter
\/ N=R=2 Clear 1 Clear Clear
150 1 150
1 Set the radicand Ols5/4]3]2] +
87654321 A A 11109 8 7 A5 43 21
2 3 Clear
122 6 1 28
87654321 A 11109 8 7 A5 43 21
5 Set initial approximation A: 12.2 and built it in CR 11212 5 ”_ 112 3le
Calculate N — A?
122 654320 ) 122 1,16
N N 11109 8 765 A3 21
244 6|5 4321 ) 1224 184
Set 2A 87654321 A A 11109 8 765 4 A 21
Calculate (N — A2) = 2A
4 24 4 — 12247 132
Division by subtractive method. (See 1Cc) 2 7
Result: R = 12.2475 2 4.4 654321 s 122475 001
A A 11109 8 765 43 24
Source: " Curta examples de calcul ", Contina / Bernard Stabile - 2023



2h Square root - Sabielny's method 1
This uses the expression R = (N =+ A) + A) + 2
A root A is guessed, or found on a slide rule or from tables, and this is divided into N.
The mean of the quotient and A gives the second order approximation.

Setting Carriage/Inverter
VN=R=2 Clear 1 Clear Clear
122 6540321 + 1 122
543 21 A A 110987 A5 4321
Set the approximation A: 12.2
22 5 2 + 12 1464
Calculate N = A
1 Division by additive method. (See 1Caq) 2|2 4 2 + 122 14884
Develop PR as close as possible to 150
3 9+ 1229 149938
2 2
Note the result in CR
22 654321 - 12295 149999
A 10987 6543 A1
2 Clear Clear
2,2 6543 2|1 . 122
Calculate (N + A) + A A 11109 87654421
3 Bring A in PR
t N+ A
Sef N 112)2|9/5 ] . 24495

117109 8 7 6 5 4 3 2 A



4 3 Clear
2 654321 1 4495
87654321 A 1110987 6543 21
2 5 2 — 12 495
Set 2
2 4 2 — 122 95
5 Calculate the mean: (N + A) + A) =2
with division by subtractive method. (See 1C¢) ) 3 . 112lal4 )15
Result: R = 12.2475
2 2 7 _ 12247 1
2 654321 5 122475 0
A

Source: " Curta calculating techniques "/ Bernard Stabile - 2023



2i Square root - Sabielny's method 2

'\[4573]5 = 2 Setting Carriage/Inverter Counter

\/N =R =2 Clear 1 Clear Clear
214 654321 - 2 428
87654321 A A 11109 8 7 A5 43 21
Set the approximation A: 21.4 214 5 + 21 4494
Calculate N + A 214 4 3+ 213 45582
1 Division by additive method. (See 1Cq)
Develop PR as close as possible to N, 457.315 214 3 6 + 2136 457104
Result in CR 214 2 9 + 213609 4572966
21,4 654321 o4 2136929 45731586
A 1110987 6543 2 A
2 Clear Clear
21,4 1 1 214
| + i
11109 8 7 6543 2 A
3 Calculate (N + A ) + A
2136929 1 N 1 427699
110987654321
4 3 Clear
Set 2
5 Calculate the mean: (N +A) +A) =2 _—
with division by subtractive method. (See 1Cc) 2 6>43>1 213849 1
Result: R = 21.3849 8 7654321 A A A A 11109 87 6 5 43 2 A

Source: " Curta calculating techniques " /  Bernard Stabile - 2023



Square root - classical method
We set the radicand on PR, set the approximate root on the left hand group, or the nearest figure below it, say x, and subtract it x times.
We add x, move the carriage to the next position and set a figure y in the next column so that if we subtract y times, we shall not reduce

PR below zero. Then we add y and carry on as before.

'\,-4573]5 =2 Setting Carriage/Inverter Turns Counter

'\/Q =2 Clear 1+ Clear Clear
7 Set the radicand 457315 654320 N 1 457315
BringitinPR 5 7 o 5 4 5 2 A A 11109 8 7 A5 43 21
2 3 Clear
5 Set the initial approximation 20.0 in SR 2 6 3 857315
Negative turns until underflow occurs 5 5 4 5 4, 5 5 i N 111098 7 454321
4 Positive turn 2 ) + 2 57315
.2
5 Carriage 5. Add the figure in CR to the sefting in SR 4 o153l , 29 977315
Negative turns until underflow occurs
87654321 A A 1109 8 7 6 A 4321
6 Positive turn. Note the last figure in CR: '1' 4 5 + 21 17315
7 Subtract 1 in CR with a positive turn 40 5 + 2 57315
o1
8 Add 1 to SR, and restore it in CR with a negative turn 41 5 - 21 16315
87654321 A 1109 87 6 A 4321
9 Carriage 4. Negative turns until underflow occurs 41 4 4 — 214 919|991 5
10 Positive turn. Note the two last figures in CR: '13' 41 4 + 213 4015
1 Subtract 3 in CR with positive turns 41 4 3+ 21 16315



L, 13

12 Add 13 to SR, and restore 3 in CR with negative turns 423 4 3 — 213 3625

87654321 A 11109 8 7 65 A3 21
13 Carriage 3. Negative turns until underflow occurs 423 3 9 — 213 9/9/981 8
14 Positive turn. Note the two last figures in CR: '38' 423 3 + 2138 241
15 Subtract 8 in CR with positive turns 423 3 8 + 213 3625

+ 38

16 Add 38 to SR, and restore 8 in CR with negative turns 4268 3 8 — 2138 2106

87654321 A 1109 8 7 65 4 A2 1
17 Carriage 2. Negative turns until underflow occurs 426 8 2 5— 21385 919199972
18 Positive turn. Note the two last figures in CR: '84' 4268 2 + 21384 3988
19 Subtract 4 in CR with positive turns 4268 2 4+ 2138 2106

+8 4

20 Add 84 to SR, and restore 4 in CR with negative turns 42764 2 4 — 21384 - 39544

87654321 A 1109 8 7 6543 Al
21 Carriage 1. Negative turns until underflow occurs 42764 1 10 — 21385 99999678

Positive turn 42764 1 21.3849 0.0010564
22 +
Result: 21.3849 A 11109 87 6543 2 A

Source: " Curta calculating techniques " /  Bernard Stabile - 2023



Cube root - Type |l
Let 3V N be determined. Let us assume that we already have an approximation A. Let 3V N = A + d, hence N = A3 + 3A2d + 3Ad? + d3

By neglecting the terms in d? and d?, we obtain an approximation d1 for d and consequently an approximation R for 3V N
di = (N — A2) = 3A2, R=A +d; = A+ (N — A3) = 3A2 [ The error is practically di2 + A') This expression is easily calculated using the Curta

| =560, A= 824, 3'\[56O=2 Setting Carriage/Inverter Counter Product
SN = A + (N — AS) ~ 3A2 Clear 1 Clear Clear
: Set the initial approximation A = 8.24 824 876 5043<1 . 824 678976
Calculate A?: Develop A in CR 11109 8 7 65 4 32 1 A A A A 1514131211109 8 7 6 5.4 A 2 A
2 Set A2 678976 3 82 4 678976
3 Clear Clear
) Calculate 3A2 .Develop 3 in CR. In PR, we obtain 3A2 678976 817165 43 27 - 3 2036928
Note this number 1, 156 5 7 ¢ 5 4 3 2 A A 1514131211109 8 7 A 5 4 3 2 1
Calculate A3 678976 576 >43 2 824 559476224
S . 3 : 7+
Develop Ain CR.A%InPR 1105 5 7 6 5 4 5 2 1 A A A A 1514131211109 8 7 A 5 A 3 2 1
2036928 876 543 21 825 561513152
—— +
Set3A2 1110987654321 A 1514131211109 8 7 6 5 A 3 2 1
6 Calculate Ay = A + (N — A3) = 3A2 2036928 4 - 824 559476224
Division by additive method. (See 1Cq)
Develop PR as close as possible to N 2036928 3 2 + 8242 5598836009¢6
2036928 2 5+ 82425 559985456
242 7144
7 Result: 8.24257 21036928 1 - 8, 57 559999 96
11109 8 765 43 21 A A 1514131211109 8 7 6 5 4 3 2 A

Source: " Curta exemples de calcul ", Contina / Bernard Stabile - 2023



n root

2| The process explained for cubic roots obviously generalizes to calculate ™/ N if A is a first approximation,

R=A+ (N — A= 3A -1

SUN = A + (N — AS) -~ 3A4 Clear 1 Clear Clear
, Set the first approximation: A = 3.54 354 8<s6<>1351 10 — 44361864 15704099856
Develop A by the method described in 3c 11109 8 76543 21 A A 46 + A A 1514131211109 A 7 6 5 4 3 2 A
Set A4 rounded to 6 digits 115(7|0(4|1 1 44361864 15704099856
2 Clear Clear
3 Calculate 5A4 11571041 8765432 4+ 3 2225
Develop 5 in CR. 5A% in PR. Nofe this number 11109 8 7 65 43 21 A A 1514131211109 8 7 A 5 4 3 2 1
y Calculate A5 157041 876 >43 21 2 — 3.54 555.92514
Develop R in CR A A 9 + A 1514131211109 8 7 6 5 A 3 2 1
Set 5A4 7_820_5 871654321 5+ 3545 559851165
5 Caleulate R = A + [N — AS) = 3A4 11109 87 65 43 21 A A 1514131211109 8 7 6 5 4 A 2 1
Multiplie to develop PR as close as possible to N
785205 2 1+ 35451 5599296855
. Result: 3.54518 785205 sl76!5/ 41321 - 354518 5599925019
with a slight error due to rounding a a 514131211109 8 7 6 5 4 3 2 &

Source: " Curta, exemples de calcul ", Contina / Bernard Stabile - 2023
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